Sequences Review Classwork

1. Describe, using words, what each of these expressions mean.
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2. What is the difference between “n ” and “f(n)"? Explain ,
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3. Write a Recursive Rule for The Fibonacci Sequence
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4. Find the indicated term of each sequence.
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5. Write the explicit and recursive formula for this sequence using subscript notation.
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6. Write the explicit and recursive formula for this sequence using function notation.
Explicit Recursive
2,14, 98, 686, ... _ch i ey =2
Lem =T £a-n

7. Critical Thinking:
What is the difference between

to find the 100 term? A recursive. formula only +lls you how 3?" Lrom e term Yo the pext
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recursive formulas and explicit formulas? Which would you want to use
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8. Ben does one math problem on January 1st, 2017. He does five math problems on January 2nd, 2017
and nine math problems on January 3rd 2017. The pattern continues in an arithmetic sequence. How ;
many math problef'ns did he do on January 147 |t =2 1441 13 vmore days 44 each day

[+403) [53 watn_pablems/
How many math problems did he do total in the first two weeks of 20177 "
|+5+q+13+\7+:z|+29f:‘7+33+37+q|+q5+qq+53 b 8 |
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9. If the 31st term of an arithmetic sequence is 150, and each consecutive term has-a common difference

ici i d 9 .
£3, find the explicit formula for the sequence. What is the 421 term:
o ] 3)st =150 = Subhwmct 3 3___&’-3 +imes =2 |5o.-70 =60
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10. 1f the 25t term of an arithmetic sequence is 50 and the 27t term is 100, write an explicit and
recursive formula for the sequence. 25th=60 G0+ * : 100 —ol=2 5
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1¥°If the 2 term of a geometric sequence is 12 and the 4th term of a geometric sequence is 108, write
an explicit and recursive formula for the sequence. " | |2E'-‘ 08
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The first term in a sequence is 8. Consecltive terms in the sequence have a
12. common difference. The fourth term in the sequence is 17.

Select the function, f(n), that represents this sequence for n 2 1.

f(1)=8
fln+1)=F(n)-3

B.* f(1)=8
fln+1)=Ff(n)+3
f(1)=8

C fnen)- %f(n)

f1)=8

- f(h+1)=‘181f(n) kil B - z
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